
Math 101-181-Sec.19 Quiz #2 

Name:                                                                         ID:     SR: 

Q.1: Given that   lim
𝑥→ − 3

(2𝑥 + 7) = 1. Use the 𝜖 − 𝛿 definition to find the value of 𝛿 corresponding to 𝜖 = 0.1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Q.2: Let 𝑓(𝑥) = {

|
1

𝑥−3
|−

1

2

1−𝑥
   ,0 < 𝑥 < 1

⟦
1

2
𝑥+1⟧

−4𝑥
,   1 ≤ 𝑥 < 2

. Is the function continuous at 𝑥 = 1? Show your 

steps. 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  



Q.3: Let𝑓(𝑥) =
𝑒𝑥−4

2+2𝑒𝑥. Find the equation(s) of the vertical and horizontal asymptotes, 

if exist. 


